BiE 98 Xo | BS PI& PIETEE(#5R™) ==Fjy) Blf= BES
A101 | TSR EBIEREE 0.33 (mg/L) RERIEREE A RIS TR 1106
A102 | BAHERYEEEKEELEE 10.0 (B, JEBR) |(BAHCEYEEE/ KEEEE) x 100 1105
A103 [#NU\OXAY >V BEKBEELR 33.0 (%) 3 (F7KAE DN EE $aKARER) / KEE#MEX 100 1107
A104 B (TOC) EBE/KEE%ELR 13.3 (%) S ($KIRDEHY (TOC) EBEY #a/KiEER) / KEEEEx 100 1108
KEEE | A105 EEEEEKSEMER 40.0 (B, JEBR) |T WMAROYZESEERE B/KISER) / KEEE[EX 100 1110
Z A106 |HEHYIEREEKEEEILR 20.0 (B, JEER) | (MAEON B ERE {aKEE) / KEEEMEx 100 1111
£ A107 | BHLFYEEEKERERER 0.0 (B, HER) | (EKieOSEMLEIEERE GKERE) / KEEEMEx 100 1113
Tl A108 |HEBRIERYEEKEEE R 26.7 (B, JEER) |T (BKRONESRIERYIEE BKIEE) / /KEEEEXx 100 1114
g PEER AL09 | EEEEKEEEEEL 0.000 - max 2(Xij/ GV ) 1109
=] A201 |BKKBERE 57 (18R) [EKKEESRIEE 2K 1101
AN A202 #/K#KERE (BH) BFrEE 11.3 (BFF/100 km?) |(faKKERE (BR) BUKERE/RTEA/KERE)x 100 1102
K MEEREE | A203 |BKHIEREMmR 2.9 (%) (SERITER ULEASHENEER / BACHENESE) x 100 5002
A204 |ERERKR 99.4 (%) (EHEAEKAF AR/ 487K 28) x 100 1115
A205 |BF7KiEKEIEER 0.0 (%) (BF/KIBAGEIS SR / BF7KIEIKELR) x 100 5115
FHEE | A301 | KEDKESBHFER 0.00 (%) FERIKBKEBHAFEL 2201
W | A302 |#FTEMERUIBLESR 0.0 (%) (HFE MR ERMIE K R/ ERTRKE) x 100 1116
maEm | mREE | A4A01 | SARMAKER 35.85 (%) (SRBUSA/KE(E R/ FEK 1 ER) x 100 1117
B101 |HEFEKIER 23.8 (%) (B SREKEKSE/2KEKE)x 100 1004
B102 HUKE1m Mz D/KFIRSIGEEE 0.00 (A/m?) KRR (IR E U I B/ ARk E 1005
B103 |#h /K= 55.6 (%) (T okigKE / ERIEUKE)x 100 4101
B104 | fEsRFIAR 49.3 (%) (—BFamkE/HEs%EE) x 100 3019
B105 SABER 57.5 (%) (—BEARIKE/HEzREE1) x 100 3020
B106 |&faX 85.8 (%) (—B Tkt kE/—BRARKE)x 100 3021
B107 |BUKEBREEZE 3.0 (km/km?) BUK SRR/ BRTEHA/KETE 2007
B108 EIRLMRE 10.7 (%) (FiR U BIRIER / BIRIER) x 100 5111
MEsEIR | B109 [/ ULT stex 5.5 (%) (FRURIULTER / JULTERES) x 100 AR
B110 |JR/KE 9.7 (%) (ERR/KE / FERIFUKE) x 100 5107
B111l |B%X 90.0 (%) (EMEMKE / EREUKE) x 100 AR
B112 |BURX 86.0 (%) (FERBIUKE/ERIBLKE)x 100 3018
B113 |Fl/KthETERHE 1.15 (=) FUKstER S e/ — ARk E 2004
B114 |#&/KAO—AHZDHEIKE 346 (L/g-A) (—BF9fLkE/IRTEHRKALO)*x 1,000 2002
B115 |#a/K#IFRE %L 0 (=) FRIAKHIRE 2R 2005
B116 |#A/KE/RE 99.7 (%) (BRI A O/#7KEIFPIA L) x 100 2006
B117 |sRfmmtRsEhEsR 46.5 (%) (FRARMEER Y MR- BR - SHEMEIDAETER) x 100 5110
EE S B201 FKIBEHEIS 0.00 (#5/10 - EFRF) | 10FERIDRKIBSIEBIUEE / FokiBEK 5101
B202 |SEHEFHIAKA OISR 92.7 (%) (SEHEBS TR O /BRAERAZK A C) x 100 2204
B203 [#A/KAO— A7z DEFERERAIKE 199 (L/A) (BB E X 1/2 + BREF/KIBEE)x 1,000/B7EEK A 2001
B204 | EROEHEIS 6.3 (#£/100 km)  |ERROBHEER /( EBEE/100) 5103
sagsszs | B205 EREROSHES 0.0 (1£/100 km)  |ESEROBHTL/ (BEHRERITEE/100) 2202
i B206 |#HEIRDEHIIE 3.6 (1£/100 km)  |BREEROBHTE / (BREHER/100) 5104
B207 |IEHREWOBHEIS 8.4 (1£/100 km) | FERXBIERROBHMIE / GERREMIER/100) 5105
B208 {A/KEDHHREIE 3.7 (14/1,000 £F) |[#KBOBMME / (KL 1,000) 5106
B209 [#A/K AO— A7z DFEIRIK - KRS 0.00 (B5RS) 5 (7K - SBKBERT x WK - EKIEHAK A D) / RIERAAD 5109
o B210 | SKEXRENEREHEOEL 4 ([Bl,/ ) F R DK E N SRR HEEIER AR
= B211 BNIRREEDE 3.3 (B/km) B  RAEEE 5114
& B301 |[EKE1m3 HizhEIHES 0.09 (kWh/m?) BHEAROAT / ERfkE 4001
Lj B302 |Ai/kE1m3 Lz MBI RILF— 0.89 (M1/m?3) TIRIE—HBER / FRIfikE 4002

= BKE1m3 /=0 _B{bik&k (CO,) HE | _ _ ]
K s aqe | B303 e 50 (g-COy/m3) |[ZEgfbikZE (CO2) HEHE / FRIBKE] x 10 4006
ﬁ B304 B4ATREIRILF—FIAR 0.000 (%) (BAERRETRILE—REOEHERE / DHEROEHEMRRE) x 100 4003
~ B305 HKFELETOBEWFIAR 0.0 (%) (BSFIFALE / BkREELTE) x 100 4004
a B306 iEREIENDU Y I)LE 100.0 (%) (UBAOILENEREENS / BSEIEMRES) x 100 4005
S B401 |H U451 ILEEHE - HEX 43.0 (%) [(FO51ILEKEIER + MEER) / BIRIER] x 100 5102
B402 |ERRDFTHRE 0.11 (%) (FrERE IR/ EER ) x 100 2107
B501 AT AELIBEFKEEER 0.0 (%) CEEMAERERI T\ BRKHEERE/ 28K HEREE7) x 100 2101
BS02 SEEMIERBBRITE 72.2 (%) CREBBEREER CLSHIR - B SRR oS 2102

— - i - BR i’ﬁfﬁﬁﬁﬁméd)@ﬁﬁi) x 100
B503 AEMAFEIHBBERR 14.6 (%) (EEMAEHZERZ TV S ERIEE/EHER)x100 2103
B504 | EIRDEIE 0.21 (%) (B SN BREE/BIEER)x100 2104
B505 | BEIRDEAER 0.000 (%) (BESNEREE/EHEER)*x100 2105
B601 |ZRifRIDEKELER 0.0 (%) (BUKRBLERE /258K iEE8EE77) x 100 2206
B602 |igKHEsRDMMHEILER 0.0 (%) (MRS NIz Rk HEEREE 1/ 259K HEEREE) x 100 2207
. :n, . L [(hB% - iB%EE T BHMROME(EKIEREEN + S BOHHEROMEL
B602-2 Ktz DF B M= LR 0.0 (%) SRS ) 25K BE R X 100 SR
B603 |/R> TRRDMELER 0.9 (%) (T SRS N T IR TfEE /MR LIt SR> TFREEF) x 100 2208
HERE A B604 |Ea/KthadmiE b= 39.6 (%) (MBSO N R EN SR/ FKESEEMNEE)x 100 2209
B605 |EIRDMEER 11.1 (%) (MEBELE/BWER)*100 2210
B606 EHEIRDMEER 30.9 (%) (BERHEROS MRS R/EHEIIER)x 100 AR
sy 0052 EREBOUREAT O e e L L
st | BOO7 |EEAKIRA K EROMRER 42.4 (%) o T \ ’ | R
e ——— 5 (%) (E;;E.‘ﬁémﬁﬁa&“E7J<E‘"E§0)DBmﬁ;%'?@é'l‘io)ai%éﬁ%ﬁ§/§§ﬁ7kﬁﬁaﬁﬁﬂ sr1m
KEIIEE)x 100
B608 |{EEIAIKSHEER 158.4 (%) (RHERIEEIS (CHE(R T & BATKEED/— B FIEKE) x 100 2216
o i pre (R SRR R/ R — 0 TOERe) X I(TIERFiTE S/ 155

B609 |EREEAK 72.6 (=) SRR D55, IESOE 2211
B610 |MAMEZEEEX 0.2 (=) TR AR R/ — B R ERE 2212
B611 |RHA/KMERZARE 0.0 (EFf/100 km?)  |SEia/KiEsa R/ (BRTEHA/KETE/100) 2205
B612 [fa/KEHFBE 0.015 (&/1,000 A) |#&/KEEER/(BRFE#E7KAO/1,000) 2213
B613 |EEEHADIEKI > IREBE 0.120 (m3/1,000 N) |E&HBEKY>IDEE/($7KAO/1,000) 2215
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BiE 98 Xo | BS PI& PIE+E{E (EER ™) ==Fjy) Blf= BES
C101 |EZUNZ bR 103.7 (%) [(BRUN - SETEI) / (S2EA- SEITSHH) ]x 100 3001
C102 |#FEUNZIER 114.5 (%) [(E22UN% + ERIMNS)/ (BB + S5 8H)]x 100 3002
C103 #UNZHE= 119.1 (%) (HAURZS/HABEFE) x 100 3003
C104 |RIEXRIBELER 0.0 (%) [RIERIES/(BRIN - FETEIN)]x 100 3004
C105 [#EAELER (UNZSHIUNASY) 3.6 (%) (IEZSEIEIRA S/ UNZSHIURA ) x 100 3005
C106 RAELEE (BARKUIASD) 20.5 (%) (BARERAS/EARMIILAET)x 100 3006
C107 |BEE— A7z DHAKUNES 124,978 (FH/N) HRZKUNZS /B2 B FE PR R S 3007
C108 |#A/KUNZE(Cx o DEERSEDES 7.4 (%) (BEER5 B /4A7KINE ) x 100 3008
C109 |$A7KUNZS (T3t I B EEFEDEIE 4.0 (%) ({EE£EFIE/HA7KINZ) x 100 3009
C110 [#A/KUNZE (T o BIRITERNEDEIS 33.2 (%) (RUEHEANER /4A7KUNEE ) x 100 3010
C111 ﬁf{f?‘“y ‘jfé%%mwtwwﬁﬁ 17.3 (%) (BBUWBR DD EEEBTE/HKINZ) x 100 3011
BEETEDEE

C112 #A/KINZR(CX o DR ERBDES 161.8 (%) (B /HA7KINE) x 100 3012
C113 |[RSmEUNR 109.1 (%) (A B/ #87K BT x 100 3013
7E | Eeme| Cl14 {HEE 207.7 (F3/m?) HEKUINES /A RIBUUKE 3014

N REEA- (FRIBE+ MRARUABRFHRM+ MHEEEE+ £5
C115 |#&/KIR{H 190.4 (A/m3) HBERA)] /R 3015
C116 | 1 nB10 m Yz DREANE 1,771 () 1 ME10M S DREMRRS 3016
C117 | 1 h"B20 m’Ei= D REANS 3,823 (A) 1 ME20mM 4 DRERRS 3017
C118 |m#htb= 625.5 (%) (RENERE/RENEE) % 100 3022
it C119 BCEAREMILR 77.6 (%) [(BAS+RIRE+ IS HRIEINE)/ 818 - E8A&5t ]x 100 3023
£ C120 EEL= 100.3 (%) [BEEE/(BAS+EIRS + A +EIEINZS)]x 100 3024
12 C121 PEEEETSRIMENELER 52.2 (%) (EBRUWEDHDEEEEE e/ SEERMELE)x 100 3025
= C122 |BlEEEDERR 0.16 (&) (BN - ST EIR)/[(AEETEE + PHRETEE)/2) 3026
-3 C123 |EEEREFERHE 8.7 (m*/FM) FRIBUK R/ B BT ERE 3027
7= Cl24 BE— AL 0BIUKE 602,000 (m*/A) FRINBIUKE / BB ERFEREK 3109
= C125 Rl&iERBOES 0.06 (14£/1,000 ££) 2RISR / (RE&FERM2/1,000) 5005
C126 |FEUUR= 91.6 (%) (RI&MALY $8E%E) x 100 5006
C127 |faKfELEBE 13.5 (14£/1,000 £)  [#KIBIEAER / (#87K1H#51/1,000) 5007
C201 |/KEHRATICRIT D ERIGE 1.71 (/N) BEEHEYE L TV BKERAIC R T 3 8188k / IS 3101
C202 |SMEBFREEERS] 11.80 (BRSI/N) (RSN IMEBHE R 2SR X ZBAL) / IS 3103
C203 |EPFAEEER] 4,57 (BSRS/N) (BEENPEPHEZ 2RI SHEAR) / 2HE XK 3104
- AMERR | C204 KSR 54.29 (%) (FitiE 2 / 2HE%) x 100 3105
o C205 | /KBRS TIIRERELR 13.6 (F/N) S DK EETRIRES / SIS 3106
C206 EHHREEL 0 (A B) > (ERBHREESH x HIEAXK) 6001
C207 \EBBpHZAES 0 (A-B) > (EBBHZAEH x HEAXK) 6101
I C301 |#R$TFEEXR 100.0 (%) (BFEUIKEA—5— 3 / KiEA—4 —5&EH) x 100 5008
C302 FkigsE=BETX 0.0 (%) (BZEBBXUIDPKIEDRKIEREE N / £FKIEREEH) x 100 5009
C401 |[L3REE(C K BIBIRDIRHE 1.83 (BB/15) TR3RESTD & DBLARERER / #a7KAHER 3201
1EIRIEML | C402 |1 > 5 —3RY MCKDIBERDIBHE 61 ([@1) T I R—SADIBH LI AR
FSAE 3 C403 |kl RFEERS 0.7 (A/1,000 A) |REE# / (EBRIEHRKAD/1,000) 3204
EnT C501 | E=Z9EA 0.000 (A/1,000 A) |EZHA#/ (B1EAKAD/1,000) 3202
=1z C502 | 77> — MERINEEIS 0.00 (A/1,000 A) |7>or—REIEAZ/ (BREFHKAD/1,000) 3203
-3 =0y C503 |BEEEE=x - (%) (EIBSRALEEL / 7> — NEIEE) x 100 3112
> C504 \/KiEH—EX (T BHBEFEES 0.02 (1£/1,000 1)  |AEH—EEBRIAEE / (#67K4E28/1,000) 3205
C505 |KE(Cx T BEIELES 0.00 (14/1,000 #) |KESEDISMHE / ($8K4%8/1,000) 3206
C506 |ZERIE (T T BEIBELES 0.00 (/1,000 #) |KERSEIESGME / ($7K1EER/1,000) 3207
VISEE /N0 CI1 |[#a/KAORE 133,017 (N) RTEHARAO AR
JOJ«—JL CI2 |2HtE% 35 (N) e F iR
CI3 |/KIRFER! 1 - - AR
S .CN)) Cl4 [BkKZk= 86.3 (%) BKEKE / ERIEUKE AR
JOJ«—JL CI5 |[fA7K AO17 ATz D DiFKIBE 1.58 (fFf/10,000.N) |#7kigsr/ (ERFEHEKAL/10,000) iR
Cl6 |fA7KAO1F ATz D DR 6.99 (EFf/10,000N) | GRAiS#R+3% - BKAESR) / (RTE#E/KAD/10,000) AR
bl Cl7 |BUUKEEE 0.35 (1,000m°/ha) |BUUKE / SHEHEKEISETE AR
SO —L CI8 |/KEX—4—FE 49.3 (18/km) KEA—5—# | BOKETEE AR
Clo |BUSiE 10.33 (m/A) ERXFUKEIEE / BAERAKAD iR
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